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They were severed, they became prohibited - 170K 1081

Overview

The ®Xn>12 states that if one made an 217°v between tied ships and the bonds were
severed, one may not carry between the ships. m»oIn explains why this is not in
conflict with a seemingly contradictory ruling.

Mmoo responds to an apparent difficulty:
= 12N0 NNAN T97 299D M7 XD

And this case of the ships is not similar to a case where an 219°» was made by

way of an opening, and the opening closed up during naw -
= DMN NIMNI DININ NAYT (3,1 97 12299997 RNDP P99 91D AN 29 XN 29 9INT

Where 771''1 and °'"'9 both ruled, in the end of the first P95 of 9219°y noon, ‘that
regarding carrying on naw between these two m7°¥rm, since it was already

permitted, it remains permitted, so why do we not give the same ruling here by the ships
that since the 217y was effective on the beginning of naw it remains effective regardless?

mooin replies:
- 3019392 ©397 MY MHN ADIND N IPDIIT 119D NONT

For here, since the tiecs were severed, it is considered as if there is a 9'';779 between

the ships; and we know -
= 609290 MY NYYI SYSNINN D9 (017393) ‘09Na /) 139y ON)

That if they were 29v% three houses and the middle house collapsed and it

became a 2''77" -
$MN NN IININ 13999N NIT XVIYD

It is obvious that in that case we do not say 579037 790371 98377, but rather that one
may not carry from one house to the other through the 1"77; the same applies to the ships.

! There were two courtyards (2>7%m) with people living in both, and a wall divided the two m7°¥n, however there was
a proper opening in the wall so they could [and did] make one n7°xn *217°¥ for both M7°¢n together (so that every
member of both M7°¥n can carry in both M7°%r). During naw the opening closed up, the question is whether the 217"y
is still valid (so that one may carry from one %77 to the other through small openings [which are not valid for an 217]).
2 When the ships become untied, the sea, which is a n°>n73 (not a 7"77) separates them, nevertheless since 132777 it is
forbidden to carry from/in a n°9173, therefore 'own writes that it is 12°K2 a 1" separates them.
3 However by the two n17xn they are both a >"11 and there is no n*7113 or 7"71 separating them (they are in reality
one large *"'1), therefore we are more lenient and say 7717 790 2°XI7. See 7m0 X,
4 Three houses belonging to three different people which were attached to each other and an 217° was made to permit
carrying from one house to the others.
5 The 2"wnn deletes the word "o’
6 Presumably this means that people began walking there between the two houses. See ‘Thinking it over’.
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Summary
We do not say 7707 790 2R if there is a M0°R Hw MwA between both *"'7A.

Thinking it over

1. mooIn ‘proves’ that we do not say 1M 70 °X7 by the ships from the case of
three houses.” However by the three houses the collapsed house became a "7
XN™TIXT; there it is Xv'wo that the 217V is not valid; by the ships however it was
merely a n°?n73 which separates them (which is only a 13277 mwA),® perhaps there
we should say 7701 79mm X317 like by the anoiw nns?!

2. This which the X713 states that 170KX1 1p081, is that valid even if the ships did not
separate from each other (so there is no n*>n15 poo71 between them)?’

7 See footnote # 6.
8 See footnote # 2.
9 See Naw NoxoN
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